R 5(2) (5%, BRI UH TR

2 O SIS

=
=

il
b

S2.

HRES TH-OKVER EEERE

D a—FP— R

e fE B ZICEBYE
1,596,000 L34 — % IR AR T, HVHEF B IREHERZRSICS
=560 MM %ﬁ g aER pi1] ﬁﬁh?ﬁlﬁ#%%%n%%ﬁtu*/i?ix
(HEBIHS 76,000 [) | DFE F DA ( EFFIAL, EREEHRD 51 RHEZICBITHIENR
i 23 6 28 B ERE THEFEL TWD, FR24F1 A OmH
— (HEBE N M) ARLE | R 6 g gﬁilﬁg\Eifé;i?ii:gl*‘gﬁg?g%%ﬂ%:&ﬁ
= kL WD —FOEFFHROE 5%
= cmwm M) [EEROICRSEE RS 1 D e PN ROIEE SR
(BERBEMEE M)
M
—_— (HEBRLE M) |[EEROARIEERS 2 MEZEHOBEOHFHFERELCEH
= (3 M) 17 B ISR T R 16 T4 D2 1 TH S 25
PEE i3 B 9B AFLICE SN
(HEBAA S M)
F E 1,795,500 THRIREREER A FE1THAR & &
fl #% |[GHEBIELEE 85,500 ) FRk23ETH2HA
oW | FE Rk 23 £ 7 H 22 B
LW EFRA TRt241A31H

(fEPT) AEEMEESRIT6ELS

EE1I | ¥ B # A

T £ A H

_ TR £ A H
= R B3 a—a APEE RS T %
(B= i34 AN al AHEVE R Tl :FEJ? = A H
| TR £ A H
TFEEFA ARG DA Z & &

-

H R T AT IR S S S R S

FA PR 2K




